BEAD GEXEF - BTTH5)

{f6F3A 18
;1) X % # F K A ! % %

BE v o o X 6,862 13,280 6,96 | 6,319

X B # K 1,194 2,827 1,385 |,442

£ P # K 550 1,395 698 697

N RO K 1,000 2,603 1,313 1,290

Bl 4% i K 7,110 1 4,897 7,294 7,603

N | R # K 1,295 3,067 1,498 1,569

it XX M # K 1,038 2,430 1,205 1,225

it & & 8 K 8,063 18,612 8,841 9,771

B » M # X 6,473 16,128 8,084 8,044

& 5 33,585 75,239 37,279 37,960
Lf6F3A 18

w K A& BT T % it F A ! 5 54

B 7 WX BE AT A 4,593 9,201 4,620 4,58 |
¥ FB H 190 340 186 |54

® 8 422 818 43 387

£ L L H 758 1,332 845 487

g R H 315 534 295 239

53 ij ) 584 1,055 584 47|

#H K3 6,862 13,280 6,96 | 6,319

A E 1 K £ B H 88 204 101 103
N & H 818 1,937 943 994

E % | 44 345 170 |75

+ K 1% #7 6T | 44 341 171 170

#H K3 1,194 2,827 1,385 1,442

k P # K ® B H 137 341 176 165
& fF 17 38 16 22

¥ @\ 125 400 186 214

& & H qq 218 104 I 14

R H 107 246 136 110

R E H 65 152 80 72

#H K3 550 1,395 698 697

N RO X N H 178 404 205 199
N R H | 47 393 196 197

7 PR HT 32 77 34 43

B R ¥ g 476 1,307 672 635

& A& 65 175 83 q2

Z ij) 102 247 123 | 24

#H K3 1,000 2,603 1,313 1,290
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BEAD GEXEF - BTTH5)

2f6%F3F | A
X £ B T 4 it FEH A = L 8
Bl &£ # X | B & H 643 1,517 733 784
P9 & %7 @ BT | 2 2 0
A 1 HT | 64 41 | 196 215
B R B 732 1,622 792 830
& & 96| 2,157 1,007 1,150
Bl &£ 100 389 153 236
= & 1,960 3,947 1,979 1,968
B | TH 242 425 220 205
8 2 TEH 46| 892 448 444
8 3 TH 496 816 412 404
8 4 TBH 745 1,377 693 684
B M W 26 15 |
N GROE S ET 434 920 458 462
JE 5% 4 %7 |8 BT |7 40 16 24
LT 1 143 356 170 186
#H X 7,110 | 4,897 7,294 7,603
N R Kt R R AR E 1,295 3,067 1,498 1,569
# X3 1,295 3,067 1,498 1,569
b X R X & ¢ H 70 222 17 105
& 5% %7 @B 6T 63 155 76 79
‘A BE YR E] |04 248 1 20 128
g @\ 6| | 44 74 70
it #H H 73 19 ql 100
N B 31 83 43 40
& A 67 177 88 89
X B 6 16 7 q
BAaa | TH q3 193 104 89
BAaE2TH ql 198 a3 105
B E3TH 105 207 101 106
a4 TH 136 305 146 |59
Mo ES5TH 54 117 57 60
B E 6 T8 84 |74 88 86
#H X 1,038 2,430 1,205 1,225
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BEAD GEXEF - BTTH5)

{f6F3A 18
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 185 400 194 206
EWL2TEH 195 458 215 243
EWw 3 TEH 173 389 202 187
Bl 4 TEH 333 842 364 478
EWL5TEH 274 611 284 327
EWL 6 TEH 285 673 335 338
EWL7TEH 235 581 284 297
£ L 8 TH 272 608 305 303
WwWE I TEH 439 928 432 496
WwWE2TEH |29 333 161 172
w¥E3TH 232 515 264 251
WwWE4TEH 158 367 |74 193
WwW¥ES5TBH 247 56 | 270 291
WwW¥E 6 TBH 270 618 287 331
NI T B 28 62 30 32
N2 T H 351 903 448 455
N3 TEH | 84 41 | 215 196
NS 4 T B 682 1,294 536 758
T& 1 TH 208 477 226 251
& 2T7TEH 233 572 269 303
& 3TEH 14 330 172 158
T & 4T7TEH 273 682 329 353
T &5TEH 198 446 196 250
BRE I TH 198 494 239 255
BHRE2TH 209 578 280 298
BHRE3TE 74 199 94 105
wHRE4TH 211 454 210 244
BHRES5TE 288 744 345 399
Afx& | TH 160 403 202 201
A& 2TH 168 406 206 200
A& 3TH 356 805 393 412
Afr& 4 TH 674 1,468 680 788
o X E 8,063 18,612 8,841 9,771
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{f6F3A 18
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 170 800 54 | 259
Bk BE2TH 162 405 204 201
By A3 TH 204 468 240 228
Bk B4 TH 286 762 361 401
B4y A5 TH 342 8217 385 442
By 6TH 335 a4 | 477 464
o BET7TH 426 1,128 58| 547
W/ AW TH 295 716 332 384
W/ W2TH 240 588 287 301
W/ N3TEHE 375 982 470 512
W/ W4TH 308 784 375 409
W/ W5TH 284 727 365 362
wr e TH 530 1,132 570 562
WworBE2TH 45| 986 483 503
WwWor B3 T8 361 1,016 511 505
Wwor B 4TE 315 547 276 271
BRI TEH 284 736 372 364
B¥27TEH 450 1,033 523 510
B3R 3TA8 311 759 385 374
B¥ 4 TEH 326 613 29| 322
B | TH | |34 35 qq
v B 3 T8 |7 44 20 24
# K F 6,473 16,128 8,084 8,044
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